The Weekly Rigor

No. 176 “A mathematician is a machine for turning coffee into theorems.” November 4, 2017

101 Problems in Calculating Derivatives Using the Chain Rule with Solutions

(Part 12)
SET 2 ANSWERS

1 P =3 (,;2:13)2 ((xzr;i(l,;l)) 2. f1(0) =2x2(x* + D72 + D+ 8x(x® + i(x? + 1)°
3. f'(x) = i(x% + x%)% Gx‘% + gx%) 4. f'(x) = f—sx"% (1 + xé)_%
5. /() = 2 (3x+ DYCI 22 + 8 6. 100 = S
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11. f'(x) = 8x(x? +3)3 12. f'(x) = = (;1_1)4
13. f'(x) = X2Vx3 + 4 14. f/(x) =2 (x5 +22) (275 + 2x)
15. /() = S5 16. £(0) = 3 (x5 +x3) (x5 +2x73)
17. f'(x) =5x(x3 + x2 +2)*(3x + 2) 18. f'(x) = ﬁ
19. /0 = gy 2. 1) =~ (s +x) " (B 1)
21 f(x) =2 (xz + xi)% (372 + 2x75) 2. () = e
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2. () =~z 4. f'(0) = s



25. f'(x) = 9x?(x® + 1)2(5 + x2)* + 8x(x® + 1)3(5 + x?)3 26. f'(x) = - —x(3x+2)
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29. f'(x) = —4 (xg + xg)‘S Gx_% + %x%) 30. f/(x) = 8x(x? + 3)*(x? + 2)7 + 3x(x? + 3)*(x? + 2)2
o) = Z3xiH1) 32, f'(x) = 3xVaZ 2
3L f'(%) = i f'(x)

“Only he who never plays, never loses.”
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